	
	enfermo
	Sano 

	Positivo
	5530
	5625

	nrgativo
	3141
	3182


Sensibilidad: VP/VP+FN
Sensibilidad:  5530/5530+3141 = 5530/8671 = 0.63 x 100 = 63%
Especificidad: VN/VN+FP
Especificidad: 3182/3182+5625 = 3182/8807 =  0.36x100 = 36% 
VPP: a/a+b
VPP:  5530/55307+5625  = 5530/11155 = .49
VPN: d/c+d 
VPN: 3182/3182+3141= 3182/6323 = 0.50
Prevalencia: a+b/a+b+c+d 
Prevalencia: 5530+5625/5530+5625+3141+3182 =11155/17478 = 0.68 
RR: CIE/CIO 
RR: .49/.49 = 1
RA:CIE-CIO
RA: 0
%RA: CIEx100
%RA: 49%
RM: a+d/b+c
RM: 5530+3182/5625+3141 = 8712/8766 = 0.99
Verosimilitud: sensibilidad /1- especificidad
Verosimilitud: 63/1-36 = -1-8
RPPN: 1-especificidad/sensibilidad
RPPN: 1-36/63 = -0.5
RRR: 1-RR x 100
RRR: 1- 1= 0
RAR: no expuestos - expuestos
RAR: ,49-.49 = 0
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